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CERTIFICATE IN ACCOUNTING TECHNICIANS
FOUNDATION COURSE (ENTRY LEVEL)—PART I EXAMINATION

December 2010 . CAT—4(BMS)
Business Mathematics and Statistics Fundamentals

Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate full marks.
Answer all questions.

Notations and symbols have usual meanings.

Section I (Arithmetic—10 marks)

Answer any two of the following: 3x2
Choose the correct option showing the proper reasons/calculations:
(a) fP=2Qand Q=23 R, then P: Riis
() 1:2 (1) 2.1 (i) 4:5 (iv) none of these
(b) A person drove his car 40 km at an average speed of 20 km per hour and next 60 km at an average speed of
30 km per hour. Then his average speed in his whole journey of 100 km is
(i) 25 km/h (i1) 20 km/h (iii) 30 km/h (iv) none of these
(¢) Time in which ¥ 5000/- will be the amount ¥ 6000/- at simple interest @ 5% p.a. is
(i) 2 years (1) 5 years (iii) 4 years (iv) none of these

Answer any one of the following: 4x1

(a) A dealer mixed two varieties of tea having cost ¥ 1200 and ¥ 2500 per kg each in such a way that he can gain
20% by selling the resultant mixture at ¥ 1800 per kg. Find the proportion in which the two types of teas
are mixed.

(b) A bill for ¥ 5400 is due in 2 years. Find Banker’s gain at the rate of 4% interest per annum.

Section II (Algebra—15 marks)

Answer any three of the following: 3x3
Choose the correct option showing necessary reasons/calculations:
(a) The number of ways in which letters of the word ‘“ALGEBRA’ can be arranged so that the two A’s will not
remain together is
(i) 1600 (i) 1800 (iii) 2000 (iv) none of these )
(b) Let p be ‘It is hot’ and g be ‘It is dry’. Then the statement ‘It is not hot and it is not dry’ can be written in
symbolic form as
(i) ~pvg (i) ~pa~q (i) ~pvg (V) pvg
(c) The number of zeros between decimal point and the first significant digit in (0-5), given log 2 = 0:30103, is
(i) 8 (ii) 7 (iii) 5 (iv) none of these
(d IfA=(1,3,5),8B=(1,3,6},u=1{1,2,3,4,5, 6} then the set (A — B) " B¢ equals to
1 (1) (i) {5} (iii) (1, 5} (iv) none of these
1
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(e) If x* = y* = z° and xyz = 1 then the value of% i 42 i8
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